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Rimsky-Korsakov: Capriccio Espagnole, Op. 34 Mvt. 1 Alborado
Clarinet I in A

in A.
Vivo e strepitoso.
T W T e

i — g5 fpe P PP PP
=3 ¥ y 7 e e e e
Ay - . - g, TR e
L HAtE G AL T Lae # Tappr-fefef sSfefy
— i i | -1 u__ﬁ_m_‘
T ——
con forsa
- ; ;
ape L . . 4 .. B Lttt G LTE
% Tt =
T —
[
4r .
s /3 qfr_ .Q‘?".. qr ar - &r - o
ﬁ‘—mff*ruf , SSSSSisi=—Toisa=c
D)
g graseas .
B___i:-l t-r? 1 ;f_-_r 1 #ﬁgﬁaﬁg & Ilﬁ
i,: : F
J _ ' _ Solo L~ .
C a2t & e G e p O Pater £Parfs,,
FS=SS=SiS s S i '
S—— con forza
Fetel £2arfPal o rerar £2idfri L ,,
| === e ——
4r o
- 1 _&ZH 1 1 !!!I | I # 2
A 1

Fﬁ
|
|
;]
gﬂ

-¢—I 8 1 d . 6|4 'dﬂ—d—j—-‘—' i .
B i—‘—i—
P A

i

d
!
)
)
-

P= = — —_ allacen



Rimsky-Korsakov: Capriccio Espagnole, Op. 34 Mvt. 111

Clarinet I in A
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Rimsky—Korsakov: Scheherazade
Movement [: 4 measures after
[F] to 8 measures after [H]

Clarinet 2 in A

— —
v
L

¥ 4

A\RV.
)

¥

]
[

=EEL

o

Q

¥

¥ 1ry
o

v

|
/'1

& —

1

r 4

D)

-2

=

— — b
— —
&

T

-~

P

i
S

L o

Z

L4

o)

e)

_‘_1_

— ——
— — —

¢ o
N

S—

#

4 I |

)

=Py

v &

S

g

TR

2 202 e

be = Liie

= 8

ot

R 1 2

m/-""'"\

1.2
114

L

1




Tchaikovsky: Symphony No. 4

Clarinet 1 in A
Movement III: mm. 145—193
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Tchaikovsky: Symphony No. 4

Clarinet 1 in B—flat
Movement I: mm. 115-120

705

nl}' '1F
1

%;" E=S=




Rimsky—Korsakov: Scheherazade

Clarinet 1 in B—flat
Movement III;: Pickups to [G] to [H]
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Beethoven: Symphony No. 6, second movement, one bar before D—one bar before E
in Bb
« 2 Viol.1I : 2 Viol.I $a B B'F'\
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